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TRƯỜNG ĐẠI HỌC VĂN LANG 

ĐƠN VỊ: KHOA NGOẠI NGỮ 

 

ĐỀ THI VÀ ĐÁP ÁN 

THI KẾT THÚC HỌC PHẦN 

Học kỳ 1, năm học 2024-2025 

 

I. Thông tin chung 

Tên học phần:  Morphology & Syntax 

Mã học phần:  71ENGL40523 Số tin chỉ: 3 

Mã nhóm lớp học phần:  241_71ENGL40523_07, 08, 09, 10 

Hình thức thi: Trắc nghiệm kết hợp Tự luận Thời gian làm bài:  75 phút 

Thí sinh được tham khảo tài liệu: ☐ Có ☒ Không 

 

II. Các yêu cầu của đề thi nhằm đáp ứng CLO 

 

Ký 

hiệu 

CLO 

Nội dung CLO  

Hình 

thức 

đánh giá 

Trọng số CLO 

trong thành 

phần đánh giá 

(%) 

Câu 

hỏi thi 

số 

Điểm 

số 

tối 

đa 

Lấy dữ 

liệu đo 

lường 

mức đạt 

PLO/PI 

(1) (2) (3) (4) (5) (6) (7) 

CLO1 

Áp dụng kiến thức 

về cách cấu tạo từ, 

các quy trình hình 

thành và các quy 

tắc phân tích từ 

vựng tiếng Anh để 

phân tích chính xác 

cấu tạo từ trong 

Tiếng Anh và sử 

dụng từ một cách 

chuẩn xác. 

Tự luận 

Trắc 

nghiệm  

40% 

 

 

Section 

1 

Section 

3 

 

2đ 

 

2đ 

 

CLO2 

Vận dụng kiến thức 

về chức năng và vị 

trí của một từ hay 

một cụm từ trong 

câu; các bước phân 

tích câu và cấu tạo 

câu tiếng Anh để có 

thể viết và nói 

Tiếng Anh một 

cách chuẩn xác 

Trắc 

nghiệm + 

Tự luận 

60% 

Section 

1 

Section 

2 

+ 

Section 

4 

1.2đ 

 

2.4đ 

 

 

2.4đ 
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III. Nội dung câu hỏi thi 

 

PHẦN TRẮC NGHIỆM (5.6 điểm) 

SECTION 1 (16 questions, 0.2 mark each) 

Choose the correct answer A, B, C or D. (3.2 marks – 0.2 each) 

How many morphemes are there in this word “employees”? 

A. 3 

B. 2 

C. 1 

D. 4 

ANSWER: A  

 

Which word below contains a free morpheme? 

A. workable 

B. audible 

C. polygamy 

D. translate 

ANSWER: A  

 

Which word below contains bound morphemes? 

A. conceive 

B. songbird 

C. checklist 

D. gunman 

ANSWER: A  

 

Which underlined word below contains an inflectional suffix? 

A. Flowers filled a sunny corner of the garden. 
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B. The wind power industry is expanding rapidly. 

C. The new qualifications are applicable to all European countries. 

D. It's an old song but it has great relatability. 

ANSWER: A  

 

How many suffixes are there in this word “unpredictability”? 

A. 2 

B. 1 

C. 3 

D. 4 

ANSWER: A  

 

Which of the following underlined affixes changes the word class? 

A. These changes would cost us practically nothing. 

B. It is impolite to point at people. 

C. The dish was too spicy, and inedible as a result. 

D. They were arguing over which film to go and see. 

ANSWER: A  

 

Which of the following words is a compound noun? 

A. heartbeat 

B. dry-clean 

C. sugar-free 

D. double-check 

ANSWER: A  

 

Which of the following words is a compound verb? 
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A. overreact 

B. side-effect 

C. landslide 

D. upper-class 

ANSWER: A  

 

Which of the following phrases is a verb phrase? 

A. experience the worst pain in her life 

B. excited about going on holiday 

C. during our first year at university 

D. John’s most favorite song 

ANSWER: A  

 

Which of the following phrases is a noun phrase? 

A. the girl in a pink dress 

B. a little girl ran up to me 

C. create a good impression 

D. on the edge of the village 

ANSWER: A  

 

Which of the following clauses is a dependent clause? 

A. that his neighbor broke into his house last night 

B. either candidate would be ideal for the job 

C. everything seems possible with today's technology 

D. most of her friends are media people 

ANSWER: A  
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Which of the following sentences contains an embedded clause? 

A. I don't know whether I should tell her or not. 

B. We can't attend Julia's party because we're busy that weekend. 

C. If she hadn't called, I wouldn't have known. 

D. I went there when I was a child. 

ANSWER: A  

 

Which of the following sentences is a simple sentence? 

A. Snakes and lizards are cold-blooded animals. 

B. We went for a walk although it was rainy. 

C. People will think that you've gone mad. 

D. She was only 20 when she had her first baby. 

ANSWER: A  

 

Which of the following sentences is a complex sentence? 

A. She was 74 years old when she wrote her first novel. 

B. I want to lose weight, but I hate diets. 

C. He didn’t have lunch, so he was extremely hungry. 

D. They've always called their son Johnny. 

ANSWER: A  

 

Which of the following phrases is NOT structurally ambiguous? 

A. a talented composer 

B. more shocking pictures 

C. young men and women 

D. an old stamp collector 

ANSWER: A  
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Which of the following sentences is structurally ambiguous? 

A. The boy waved at his team with a flag. 

B. Having finished the assignment, Jill turned on the TV. 

C. He looked at the falling leaf. 

D. I've got an important appointment with Ms. Edwards. 

ANSWER: A  

 

SECTION 2 

IC TREE DIAGRAM (8 questions, 2.4 marks – 0.3 each) 

What is each numbered space best replaced with? 

  

A. 1: NP1; 2: DET1; 3: PP; 4: N’2 

B. 1: AP2; 2: A; 3: N; 4: AP3 

C. 1: NP1; 2: AP2; 3: N; 4: N’2 

D. 1: AP2; 2: DET1; 3: PP; 4: AP3 

ANSWER: A  

 

What is each numbered space best replaced with? 
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A. 1: PP; 2: NP; 3: AP; 4: headA 

B. 1: AP; 2: NP; 3: NP; 4: headA 

C. 1: NP; 2: NP; 3: AP; 4: headN 

D. 1: PP; 2: NP; 3: AP; 4: headN 

ANSWER: A  

 

What is each numbered space best replaced with? 

  

A. 1: VP1; 2: AdvP; 3: N’1; 4: AP 

B. 1: VP1; 2: AP; 3: N’1; 4: AP 

C. 1: AP; 2: AdvP; 3: AP; 4: N’1 

D. 1: VP1; 2: AdvP; 3: NP; 4: AP 

ANSWER: A  

 

What is each numbered space best replaced with? 
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A. 1: S; 2: NP1; 3: VP1; 4: AP1 

B. 1: S; 2: NP1; 3: VP1; 4: AdvP 

C. 1: NP1; 2: NP; 3: AP1; 4: AP3 

D. 1: NP1; 2: NP; 3: VP1; 4: AdvP 

ANSWER: A  

 

What is each numbered space best replaced with? 

  

A. 1: S1; 2: S2; 3: VP2; 4: PossA 

B. 1: S’1; 2: S’2; 3: VP2; 4: Adv 

C. 1: NP; 2: NP; 3: AP; 4: ART3 

D. 1: S1; 2: S2; 3: AP; 4: PossA 

ANSWER: A  

 

What is each numbered space best replaced with? 
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A. 1: S3; 2: S1; 3: PRO1; 4: AdvP 

B. 1: S1; 2: NP5; 3: N’3; 4: Adv 

C. 1: S3; 2: S1; 3: headN; 4: AP 

D. 1: S3; 2: S’; 3: PRO; 4: AdvP 

ANSWER: A  

 

What is each numbered space best replaced with? 

  

A. 1: S1; 2: VP1; 3: S’; 4: S2 

B. 1: S1; 2: VP1; 3: S2; 4: S’ 

C. 1: NP5; 2: AP; 3: S’; 4: NP6 

D. 1: S1; 2: VP1; 3: S’; 4: NP5 

ANSWER: A  
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What is each numbered space best replaced with? 

  

A. 1: S1; 2: AdvP; 3: S’; 4: N’1 

B. 1: S1; 2: NP5; 3: S’; 4: NP6 

C. 1: S1; 2: NP5; 3: S’; 4: N’1 

D. 1: S1; 2: AdvP; 3: S3; 4: NP5 

ANSWER: A  

 

 

PHẦN TỰ LUẬN (4.4 điểm) 

SECTION 3 

Identify the different word-formation processes involved in producing each of the 

underlined words in these sentences. (2 marks – 0.2 each) 

Example: Could you please empty your bag? 

Answer: Conversion 

 

Question 1: I’ve never met his girlfriend. 

Question 2: She lost her house and her family in the tsunami. 

Question 3: I pour coffee and butter some toast for him. 

Question 4: Aspirin should not be given to young children. 
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Question 5: It was not easy to diagnose cancer. 

Question 6: We always have brunch together on Sunday. 

Question 7: I'll give you a demo of the new system. 

Question 8: I'll tell them I sold it for £20, not £25, then I can pocket the rest. 

Question 9: He has worked for NASA since 2015. 

Question 10: The photo was on the front page of all the papers. 

 

SECTION 4  

Determine the form (N, V, Adj, Adv, or Uninflected Words – UW), position (Nominal, 

Verbal, Adjectival, Adverbial), and syntactic functions (Subj, DirObj, IndirObj, 

PreObj, SubjComp, Mod…) of the underlined word in each of the following sentences. 

(2.4 marks – 0.3 each) 

Example: Max was struck by lightning. 

Answer:  Form: Noun  Position: Nominal  Function: PrepObj 

 

Question 1: I’ll send you flowers. 

Question 2: Jane's new boyfriend is a really nice guy. 

Question 3: The children go to school by bus. 

Question 4: The student standing is our group leader. 

Question 5: Frighteningly, all this stuff I'd been reading about was real. 

Question 6: It is a thrilling tale of a haunted house and the ghosts therein. 

Question 7: That is why we call them liars. 

Question 8: Would you like something sweet? 

 

 

 

ĐÁP ÁN PHẦN TỰ LUẬN VÀ THANG ĐIỂM 

 

Phần câu hỏi Nội dung đáp án Thang điểm Ghi chú 

I. Trắc nghiệm 5.6  

Part 1 Answer A 3.2 0.2đ mỗi 

câu 

Part 2 Answer A 2.4 0.3đ mỗi 

câu 

II. Tự luận 4.4  
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Part 3 Đáp án câu 1: compound 

Đáp án câu 2: borrowing 

Đáp án câu 3: conversion 

Đáp án câu 4: coinage 

Đáp án câu 5: backformation 

Đáp án câu 6: blending 

Đáp án câu 7: clipping 

Đáp án câu 8: conversion 

Đáp án câu 9: acronym 

Đáp án câu 10: clipping 

 

2.0  

 

0.2đ mỗi 

câu 

Part 4 Đáp án câu 1: Form: Noun, Position: 

nominal, Function: DirObj/Direct 

Object 

Đáp án câu 2: Form: Adjective, 

Position: adjectival, Function: 

Mod/Modifier 

Đáp án câu 3: Form: Noun, Position: 

nominal, Function: PreObj/Object of 

Preposition 

Đáp án câu 4: Form: Verb, Position: 

adjectival, Function: Mod/Modifier 

Đáp án câu 5: Form: Adverb, 

Position: adverbial, Function: 

Adjunct 

Đáp án câu 6: Form: UW/Uninflected 

word, Position: adjectival, Function: 

Mod/Modifier 

Đáp án câu 7: Form: Noun, Position: 

nominal, Function: ObjComp/Object 

Complement 

Đáp án câu 8: Form: Adjective, 

Position: adjectival, Function: 

Mod/Modifier 

 

2.4 

 

0.3đ mỗi 

câu 

 Điểm tổng 10.0  

 

  TP. Hồ Chí Minh, ngày 22 tháng 10 năm 2024 

 

Trưởng bộ môn  Giảng viên ra đề 
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TS. Nguyễn Hòa Mai Phương  ThS.Lê Thị Trung Đính  

 

 


